®

@ Modular

Assembly Technology

Accessories i1

Clamp Type A
JeiR AR
Description Fastening Set Mass (g) Part No. HQ| Faserinase

PR REBM

/1
e’
18

EE (g

Clamp Type B/IC
Jetk BICEY

¢

TS

4 M8x30 Bolt
zinc plated
1 M8 Spring Washer
° zinc plated

M8 T Nut
nickel plated

Description
PRtk

Fastening Set

R EE

Clamp Type C

seth G 1xPD

sPs.CcL40.C {TTE

P D ‘ Fastening Set

H Q ‘ Fastening Set

< M6x40 Bolt
zinc plated

° < M6 Spring Washer
zinc plated

4 M8x30 Bolt
zinc plated
. M8 Spring Washer
° zinc plated

M8 T Nut
nickel plated




